EARAZROREIERT — 2 N—XBISY —F 2016558220 (H) 5E£R1H

M 3B—7 B7 #5%3mk (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N s EFEREA :34. -1-1- . — EERE (£R)
1 o | NI AT — i 3 ZR 1(3_4)2 1-1-1-1 | 41.1 1 (4:579) pens
LA TAT v — BAATRTAI Hi5H5
A 4 3 | BEHBAA 1:34.5 8-6-4-3 |40.7| — 6 476 | HARR (£R)
2 3 KNI >7—IL b 56.0 (11/2) 0 (#%) 77—ZAbLEY 3>
LHIRT 75X B:T)EQ-X VA ¢
e . —D_o_ _ SREF (2R
3 4| 7ITU-T5 -2 it 3 o 1(.13/42.>6 2-2-2-2 | 41.4 4 (i?g) mEET
LNMNVTSY B:YaATILIATTI EZHTT— L
N HEH : 55— — &R (2R
4|8lg|FavIALIFL s 56.0° (17'3;5) oes s ? ;‘f; et
R:O—-Y X124 B:FRI/TrA> e B
—iae EIHBETE :35. ~4-6~ . — EERE (£R)
5|5|5 T“/g)[‘/ﬁ?‘\”‘yl‘ i3 5%.0 1?55)6 s i ’ (4:139) 1 EEE
LTI RAFY AN BORENATTZ 17 3435
= F= = 3 | RESE 1:35.7 7-8-7-6 | 41.0| — 5 464 | HEH= (£R)
6/111|ZAPTZ1 2R 54.0 (1/2) o) |HEEs
R T*ATv— B:vA4xTUYT> EvJiLy RT77—L4L
—a g .= RIAR : -3-3- - SEE= (£R)
2 6| BT FUH NS it 3 xia 1.(367>.o 3-3-3-5 | 43.6 3 <5+115) aEm
R:d—IWK7Y2—Ib BETFCRTILYa RS
o B 3 | BAR— 1:37.5 5-7-8-8 | 42.8| — 7 445 | DIEERDIZE (£R)
888 LT 7 54.0 (2 1/2) o |FRE '
LA bk—L B: 24/ 947 M7 7 — L4
3 3 4 3 | BREBAH 1:39.3 9-9-9-9 |44.9| — 9 440 | NIIZRBASL (£3R)
9l7|7|¥¥~¥~ra 56.0 ) (o) | B A=257
R:gZ/¥LLy b Bi2143HTTES e
® I—F—@EBIERL
13—7+— 2,4,6,5,8,9,1,3,7
Ao=5"= 2,4,6,5,9,3,8,1,7
T =35r= 2,4,6,3,9,5,1,8,7
43—F— 2,4,(3,9).6,(1,5),8,7
[ RN
B 2 200M 794K 2-3 790 & 2-3 2,310M &R 2-3-4 2,490/
# B 2 1004 2-4 330M B 2-3 3,310M EE 2-3-4 13,860
3 350/ 3-4 1,010 B = 2-3 2,470M
4 160/ B H 2=3) 3,130M

ABICOVWTRDTEEERROODE. TR LIV,



